AMOEBA ELECTRIC GUN — SAFETY INSTRUCTIONS

* FOR ADULT USE ONLY. NOT TO BE OPERATED BY MINORS UNDER THE AGE OF 18.

= NEVER MODIFY OR ALTER YOUR AIRSOFT GUN. Attempts to modify the airsoft gun in any way could make
your airsoft gun unsafe to use, cause serious injury or death, and will void the warranty.

« Misuse of Airsoft Guns is dangerous and can cause serious injury or death. Always treat an Airsoft gun with the
same respect you would towards a real firearm.

SAFETY CONSIDERATIONS

« NEVER look into the gun's muzzle.

« NEVER point the Airsoft gun at anything you do not intend to shoot.

+ NEVER shoot at targets that may cause the BB to bounce off, such as hard surface that could produce a ricochet.
« ALWAYS ensure the operator and everyone nearby are wearing appropriate eye protection.

+ ALWAYS ensure the fire-selector is on "SAFE" until you are ready to shoot.

+ ONLY shoot the airsoft gun in designated area, towards a safe direction, using a sufficient backstop.

GENERAL PRECAUTIONS

+ This merchandise does not contain any internal components compatible or interchangeable with a real firearm.

+ This merchandise cannot accept firing components from a real firearm, nor be able to chamber / fire real
ammunition.

« This merchandise s designed to function solely with 6mm airsoft ammunition. ONLY use high-quality precision
plastic BBs designed for 6mm Airsoft guns.

» NEVER reuse a BB that is dirty, has been shot from the gun, or otherwise deformed. Use of contaminated or
imperfect BBs could damage your gun.

+ ALWAYS transport Airsoft guns in it's original box or an appropriate gun case. NEVER carry the gun in
plain sight.

« ALWAYS store the airsoft gun unloaded, and out of reach by children.

« Using unauthorized repair centers or modifying the function of your airsoft gun in any way may be
unsafe and will void your warranty.

« The manufacturer, distributors, and retailers are not liable for any malfunction, accidents, injuries WARNING
or repair cost resulting from misuse, or by disassembly and modification of the airsoft gun.

AMOEBA AM-008 ELECTRIC GUN — SPECIFICATIONS

AM-008 Rear Sight

Metal Top Rail
Nylon Fiber Housing

Metal Frlont Sight

Retractable Buttstock

Nylon Fiber Hardguard Metal Flash Hider

Tactical Handgrip
Hi-Cap Magazine

Magazine Release Knob

EFCS METAL GEAR BOX

* NON-CONTACT FIRING CONTROL

« MODE: SAFE - SEMI - AUTO

« Digital multi magnetic sensor control circuit. BATTERY

* Not affected from dust, grease, under voltage MAGAZINE CAPACITY
and parts tolerance. MODE

« LI-PO BATTERY READY GEARBOX

 FULLY PROTECTED FUNCTION:

8.4-11.1V (LiPo ready)
250RDS (6MM BB)

Full Auto/ Semi / Safe ...
Full Metal (EFCS)
Nylon Fiber

High Torque Flat Motor
HOP-UP Adjustable

e MATERIAL
Short circuit, Overloaded, Motor locked, MOTOR

Weak voltage and no time delay
« MULTI FUNCTION SETTING

° ALL IN ONE DESIGN

2. Insert the battery inside.

1. To retract the buttstock

2. To remove the buttstock

Replacement parts available from your local distributor or retailer

0 NOT ENOUGH HOP UP

@ ExcessivE HoP UP

FULL AUTO




SP-0.4X3.2X1X25

uB-9

/ﬁm o

RC-M2X2.5

i

S-7!
$P-0.4X3.2X1.5(

y

SP-0.5X2X1X'

RS-80

‘UB-S

ST-222

$P-0.5X

é\JM‘BXJ
ST-221
E ST-220 %

RCS-M3X6

$P-0.8X6.2X3X27

SP-0.3X1.7X1X6

FC-M3X14

& O
FC-M3X8 .‘k&\
FC-M3X18

~ \
ETW-M3°8

RC-M2X4

RC-M2X4
RC-M2X4
RC-| 4

GB-285

"

GB-12

GB-286

N»MZ)M

RC-M2X4
GB-288 RC-M2X4

RC-M2X4

FC-M3X8

u\ ~
@3)(18

W

o

SP-90

FC-M3X8

GB-280
GB-44- 0 W-3.1X6X0.3°2

W-3.1X7X0.1°2

I
GB-283

GB-35

P,
RCW-M2X4

//Fc-m)ns
/'/Q‘ETW-MS

OR-2.5X19

GB-282

GB-281

RCS-M?BXN
Rcs-Mz.sxh\

RCS-M2.3X12

RCS-M2.3X12

\\

MG-2

e

/&P»O 5X3X1.5X12

MG-338

RCS-M2.3X8

ITW-M2.5

-l

RCS-M2.3X12 R

e

RCS-M2:3X12

MG-340

MG-341

FOR GENERAL ENQUIRY, CONTACT US AT

ARES@ARESAIRSOFT.COM

FOR THE LATEST NEWS AND PRODUCT INFORMATION, VISIT US AT

WWW.AMOEBA-AIRSOFT.COM
Ei AIRSOFTAMOEBA

(©AMOEBA AIRSOFT. ALL RIGHTS RESERVED



